Efficiency vs dr

efficiency vs AR

Ratio

o
[od

0.7F
0.6
0.5F -+
0.4F -
0.3F
0.2F
0.1
aF i L
L.ug T
F —=— DQM_noFI 4_5 ep
I | —— DQM_Fit2_si
L —— DOM_Fit2An
I -L—= DQM_Fit2An |:|]:|:

1072

[ Efficiency vs dr (track,jet) |

EO.OS
.045
£
%0.04
9.035
>
20.03
Q
i15=6.025
3]
0.02
0.015
0.0
0.005

ar-phasel-Newgeo

ep2_ttbar-phasel-newgeom
dCPEGeneric_step2_ttbar-ph
dCPETemplate_: step2 ttbar p

asel-newgeom
hasel-newgeom

-1

1
TP min AR

[y

Efficiency vs pu

efﬂmency vs PU

0.25

0.15

Ratio

0.05F o e ofiede e doeche R T
PN SN VN PP T R
LWl | Bl .
;- --E,n- e
55 60 65 70 75 80 85 90 95 100

0.45

0.35

©
a

1072

1
AR(TP, jét)

-1

©
»

o
W
[RARANRARLN AR LR LRRRY RRRLY LAY LRRL

0.2

0.1

TT
5
T

...........................

.............................

....................

....................

0.95
5

(@]

Pileup




	Contents
	Page 1


